P1 |

HAFERELEA T BHISNET, 27 0 —A oL F 5L SEVETOTREX Rl & SHAT S,

“18E)| — Lessons from the Ozone Hole 11.2(4B) A2E
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1 In May 1985, scientists from the British Antarctic Survey
B (LrodE) 2bicxic %% (1F->WxH) &Z:I:V) %ﬁ% (IZ= 1+ A) ER (2x2w) 72 .
>, shocked the world by announcing the discovery of a  huge  hole in
F o (£9) ~0Lk (5 %) M (72X x <') . 73 A B (FnHn) Sz
sthe ozone layer above the Antarctic. Ozone is a gas usually formed
ek (SAT) . K& (T2 ) . ﬁ<fu@%ﬁw
.from oxygen that is high in the earth’s atmosphere. The ozone layer is essential
A i (’.@/‘&N\) HE (b<EWn . SF(ED) D HE (I3 7
sto  life  onour planet because it protects us from harmful
BN (.LZJW\H:/\/) bizbanbd . FeAR (ZH'A)
s.ultraviolet rays produced by the sun. Without the ozone layer, these rays
~DOFK (FAVA) &2 A fﬁ?’i (k9 &) . N (li/utf/u.)
zwould cause cancer and other disease in both human beings and
sanimals.

Further Questions&Z
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»1) What did the British Antarctic Survey  discover ?
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12.2) Why is the ozone layer essential tolife? 7w ) FEIZ R DRV D T A,
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1. The world’s reaction to scientists’ discovery was surprisingly quick.
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5. Data  showed that the ozone hole had been created by gases called
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is.chlorofluorocarbons (CFCs), which were widely used 1n machines
~D X577 . =72y WM (h\ 25 2) B (10 5)

iz.such as air conditioners and refrigerators. By 1988, 46 governments had
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5. signed the Montreal Protocol ,a treaty that banned the
fEH (LX) M (Fo& 1<) . B (&) v (Boh) WhHIE (1E51F9)

9. use of these gases. Eventually, this treat way
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20. signed by every member country of the United Nations—the only
&8 (LxroR<) IhETIC E (<)

21. treaty  ever to be signed by so many nations.
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221t will be a long time before the ozone hole disappears completely, but it soon
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stopped growing . Persuading the international community to
(&) v A (W) o EFUMIA—AL HER (ETHLL) AE (Lwos29) ahic

23, adopt the Montreal Protocol was considered to be a great
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2.achievement for the environmental movement.

Further Questions &/

»5.3) What was the hole in the ozone layer caused by? =+ s oo ik 147 /o c3 7,
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2.4) What was so amazing about the Montreal Protocol?

27.Montreal Protocol ® & < ~Xx = L E72 A TT M,

28.
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20.According to scientists, there were two reasons why people responded so
. fa (XFA) bo . . g (0 2) T2
so.quickly to the danger . The first was that it was easy to understand. If the
~Lg (m2) e HK (%“57‘:“}‘) T5 . ~IZER (2xo00) btz b . bod e (XL X)
s1hole  kept growing , it would threaten life everywhere.
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32 The second reason was that it was easy to  replace  the CFCs with

R (Zniewv) 7r gz Digvy HE (ZADRW)
53 *hydrochlorofluorocarbons (HCFCs), gases that do much less damage to the

R (5HZ9) 1K Lol ~72F il
se.0ozone layer. Unfortunately, though, HCFCs have their own problems. Not only
B (Cxbxro) 5 HIERIEREAL (BEw S BATEAD) HE (Lwd ko) &
s55.do they contribute to global warming , but they may also be a  major
K (EHwvAa) R (lXo722) i (SAEW))

s6. factor 1nthe development of acid rain .

*HCFCs= hydrochlorofluorocarbons =

Further Questions&Z2
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52.5) What was one reason people responded so quickly to the danger?
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1.6) What are problems with HCFCs? HCFCs o570 o3,

42.
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is.Does this mean thatthe ban on CFCs was a bad idea? The ozone hole was a
HIEFHE (XALLZ D) DR B (BE) 9
wreal danger and, without the ban , it would have quickly grown to cover the
2R (BAkwy)  #E (b<Ew) R (£5720) HE (Lwo ko) & BR (Lxrov)
5. whole  planet . Stopping its growth wasa  major victory .
R N /R I o X o W (Z A7z i) cnixs B (< E0) A
w.Nevertheless, the difficulties caused by HCFCs show how complicated
B (OhAZxxr)) © w0 x5 L0 b FiE (LoL x9) 5
senvironmental problems can be. Above all, they demonstrate how important it
il (TnWEx) +2 EEVAS R FAvA)
1518 for us to find a way to  control the main cause of global warming—the
AEH (@I W) 72 m (<o) 2562 & KRR (F2ng)
1. harmful gases that we keep putting into the atmosphere.
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Further Questions&2
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50.7) What Would have happened had the ban not happened?
5. HLZ )**l TR oT=2H ED XL )ﬁpk/)\t_of_CLt I D
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.8) What did the HCFCs demonstrate? HCFCs 2t 0] LCun = b7 0o,

53.

5.(37) The ozone layer is important because it > o il & % o5 5 i
ik (132) ¥5 # (SA%x) »#E (02k9) #&
551 helps preserve the oxygen necessary for life.
wER (Lwo72wn) 72 R (BxoE)
562 protects us from rays that can cause serious diseases.

FE (b7zLeh) I~ 85D HE (TwEA) 72 #EE (291 w) 15 Y (io‘ﬂﬂf./u) /T“G‘REP (< ’)é’%@.ﬁ) 2
57.3 allows us to calculate the amount of pollution in the air

554 stops the earth’s atmosphere from being damaged by the sun.
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.(38) Why was the Montreal Protocol seen as a great success for the
BB RHEED (DAX X IET AL D)
environmental movement"

60. T MUA **/Vmur B 5% (R | SV X702 T,
B (EWS) B~ 5% (Z &) Zilfl (2xo€W) 2 7E (FAxwH)
61.1 It forced governments to do more research on the ozone layer.
%ﬁ(fw§;5>bt m(ng¢ Tu v HAR~EDL o
22 It provided data showing that CFCs created the ozone hole.
EE (bw o) %U%/)th. #HiE (FALXY) AT (15.171‘) bihTnd
3.3 It attracted attention to the damage being done to nature.
BHR (WFA) 8% (hWob) Lz rv% (B8B) <O~ . o EDEOEK (Lr o) &b
61.4 It was agreed  to be more countries than any other treaty.
EE (50 2) THEIE (FAL) Shiz .
6:.(39) What was one reason CFCs could be banned so quickly?
66. Ta N /23 M= >R T T3 23,
. . . DEd (LAEW) Lz ﬁ&?'ﬁéﬂi'(éhﬁb"i)
¢.1 Scientists were becoming concerned about acid rain .
~ % (J%J:.) 7z . HE (FALD) ©
52 People recognized that global warming wasa  real problem.
A (DIBV) RFETRARD R AIEE (0 L5720 5) 72
0.3 A gasthat was not as harmful to the ozone layer was  available
EPE (WS A) ST R H (E»nLw 9) T

04 They were being produced in only a few places around the world.

Tu ol (FAL)

71(40) The ban on CFCs was a good idea because 7o ol 4t hr= o 70t

~~E (BHYY) W B (=< A)
=1 1t led to a reduction in global warming.

(<) ok EHE (b<EW) Bl (FxH50n) LhHbo
32 1t saved the planet from a serious threat

fREE (i) e
2.8 1t reduced the amount of  HCFCs 1in the air.

. & (L) L Ehigs THHE (/S><.é“’3) AN .
.4 1t showed how complicated nature is.

Review Questions
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1) What did the British Antarctic Survey  discover ?
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. They discovered a huge hole in the ozone layer.

2 TR b RN

x2) Why is the ozone layer essential to life?
. SE(ED) D HE (PHI03W) 7 . Kk (ZHHA) ~I2L-TE (2<) bhiz
. Because it protects us from harmful ultraviolet rays produced by the

Sun.

«.3) What was the hole in the ozone layer caused by?

~EME (L) e TerdR

s1. 1t was created by gasses called CFCs.

2.4) What was so amazing about the Montreal Protocol?
~ZEoTH A vz

ss. [t was signed by every member country of the United Nations.

s15) What was one reason people responded so quickly to the danger?
B (Fxow) &5 (b)) 25
ss.(1) If the hole kept growing it would threaten life everywhere.
(&) v () 25 rod (<) 7w

6. 2) It waseasyto  replace  the CFCs with HCFCs which do much  less
damage.

s»6) What are problems with HCFCs?

B (Cxbxrd) 75 K (kHwvAa)
ss. They contribute to global warming and they may be a major factor in the

development of acid rain.

s.7) What would have happened had the ban not happened?

: B (BB) 7 EE (BAbl{EWn)
0.1t would have quickly grown to cover the whole planet.

01.8) What did the HCFCs demonstrate?
2. They demonstrated it 1s important for us to find a way to control harmful gases
we put into the atmosphere

firs: (37) 2 (38) 4 (39) 3 (40) 2

Type B HAFEIRZ L
“183)| — Lessons from the Ozone Hole 11.2(4B) A2E

os.IJn May 1985, scientists from the British Antarctic Survey shocked the world by
s«.announcing the discovery of a huge hole in the ozone layer above the Antarctic.
95.0zone 1s a gas usually formed from oxygen that is high in the earth’s
s.atmosphere. The ozone layer is essential to life on our planet because it protects
or. us from harmful ultraviolet rays produced by the sun. Without the ozone layer,
s these rays would cause cancer and other disease in both human beings and

9. animals.

Further Questions&Z2

100.1) What did the British Antarctic Survey discover?
101.2) Why is the ozone layer essential to life?
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102 The world’s reaction to scientists’ discovery was surprisingly quick. Data showed
s that the ozone hole had been created by gases called chlorofluorocarbons (CFCs),
12 which were widely used in machines such as air conditioners and refrigerators.
105, By 1988, 46 governments had signed the Montreal Protocol, a treaty that

s banned the use of these gases. Eventually, this treat way signed by every
wz.member country of the United Nations—the only treaty ever to be signed by so
s many nations. It will be a long time before the ozone hole disappears completely,
109 but 1t soon stopped growing. Persuading the international community to adopt
1no.the Montreal Protocol was considered to be a great achievement for the
n.environmental movement.

Further Questions&Z2

112.3) What was the hole in the ozone layer caused by?
115.4) What was so amazing about the Montreal Protocol?

n+.According to scientists, there were two reasons why people responded so quickly
115.to the danger. The first was that it was easy to understand. If the hole kept
ne.growing, it would threaten life everywhere. The second reason was that it was
1i-.easy to replace the CFCs with*hydro chlorofluorocarbons (HCFCs), gases that
ns.do much less damage to the ozone layer. Unfortunately, though, HCFCs have
otheir own problems. Not only do they contribute to global warming, but they
1zomay also be a major factor in the development of acid rain.

*HCFCs= hydrochlorofluorocarbons =

Further Questions&Z2

121.5) What was one reason people responded so quickly to the danger?
1226) What are problems with HCFCs?

12s.Does this mean that the ban on CFCs was a bad 1idea? The ozone hole was a real
zedanger and, without the ban, it would have quickly grown to cover the whole

125 planet. Stopping its growth was a major victory. Nevertheless, the difficulties
z6.caused by HCFCs show how complicated environmental problems can be. Above
127.all, they demonstrate how important it is for us to find a way to control the main
12s.cause of global warming—the harmful gases that we keep putting into the
1z0.atmosphere.

Further Questions&Z

130.7) What would have happened had the ban not happened?
151.8) What did the HCFCs demonstrate?

122(87)  The ozone layer is important because it

1331 helps preserve the oxygen necessary for life.

3.2 protects us from rays that can cause serious diseases.

135.3 allows us to calculate the amount of pollution in the air.

3.4 stops the earth’s atmosphere from being damaged by the sun.
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157.(38)  Why was the Montreal Protocol seen as a great success for the
environmental movement?

1351 It forced governments to do more research on the ozone layer.
1302 It provided data showing that CFCs created the ozone hole.
110.3 It attracted attention to the damage being done to nature.
1.4 It was agreed to be more countries than any other treaty.

12(39)  What was one reason CFCs could be banned so quickly?

3.1 Scilentists were becoming concerned about acid rain.

11122 People recognized that global warming was a real problem.

1153 A gas that was not as harmful to the ozone layer was available.
1164 They were being produced in only a few places around the world.

117.(40)  The ban on CFCs was a good idea because

8.1 1t led to a reduction in global warming.

1192 1t saved the planet from a serious threat.
1503 1t reduced the amount of HCFCs in the air.
5.4 1t showed how complicated nature is.

1521) What did the British Antarctic Survey discover?

155.2) Why is the ozone layer essential to life?

15:.3) What was the hole in the ozone layer caused by?

155.4) What was so amazing about the Montreal Protocol?

156.5) What was one reason people responded so quickly to the danger?
15.6) What are problems with HCFCs?

155.7) What would have happened had the ban not happened?

150.8) What did the HCFCs demonstrate?
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e| T|O]|IC

English Teachers On Call




